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Grade 4 Unit 3:  Multiply by 2-Digit Numbers
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Targets
A = Achieved Target
NA = Nearly Achieved Target
D = Did Not Meet Target
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Star stickers cost 10 cents each.
Nanci bought 80 star stickers to use
in her science report. How much did
she spend in all?
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Atotal of 47 students attended a
bike rally. They each rode 23 miles
in the rally. What is a reasonable
estimate of the number of miles the
students rode altogether?




image8.png
The video game store charges $70 for
a new video game. During one week
the store sold 46 games. What is the
total amount of money the store made.
in new video game sales?
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Atour boat makes 32 trips around a
lake each day. The boat can hold
18 people. What is a reasonable
estimate of the number of people
who can tour the lake on the boat
each day?
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Mrs. Taylor bought 16 tickets to an
amusement park. She paid $18 for
each ticket.
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What i the total amount of money
that Mrs. Taylor paid for the tickets?
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Pang can type 47 words each minute.
At this rate, how many words wil
Pang type in 45 minutes?

A 1,880
B 2,080
c 2115
D 2209
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Greg took a trip for 21 days. He took
an average of 36 black-and-white
photos and 60 color photos every day.
How many more color photos than
black-and-white photos did Greg
take on this trip?
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Stella has printed 45 pages. Each
page has 18 tickets on it. She will cut
apart the tickets on each page. How
many tickets will Stella have in all?
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Some art students designed ties for a
wall in the school. The tiles were put
in 18 equal rows of 38 tiles. What is
the total number of tiles on the wall?
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Lola is showing her dad how to multiply 34 X 26 with partial products.
Write a step-by-step plan for how Lola can explain this strategy.
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Grandpa's stamp album has 48 pages.
Each page has 5 rows with 4 stamps
in each row. How many stamps are in
Grandpa's album?
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Beth babysits the Thompson children
every Saturday. She is paid $28 each
time. How much will Beth earn if she
babysits for 44 Saturdays?
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An old movie theater has seats on a
main floor and in a balcony. The main
floor has 26 rows of 29 seats in each
row. The balcony has 8 rows of

23 seats in each row. How many
more seats are on the main floor
than in the balcony?
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There are 23 DVD players on sale at

a store. Each DVD player costs $63.
What is the total amount of money the
store will make if the store sells all the
DVD players?
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The art museum has 7 floors. Each
floor has 4 rooms with 25 paintings in
‘each room. What is the total number
of paintings in the museum?
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Mr. Jenkins’s math students designed
a game board. The game board has
16 equal rows of 26 squares. What

is the total number of squares on the
game board?
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Leo walks dogs to earn money. He makes $36 each week. He is
saving to buy a racing bicycle that costs $1,350.

Leo thinks he can make enough money for the bicycle by working for a
year. Is Leo correct? Explain. (Hint: 1 year = 52 weeks)
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Leo can earn $48 each week if he walks two more dogs. So far,
he has made $36 per week for 17 weeks. He thinks he will have
to work 20 more weeks at $48 per week to have enough for the
bicycle. Do you agree? Explain your answer, and support it with
information from the problem.
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Which shows the best estimate to use
to find 43 x 787

A 40 x 70 = 2,800
B 40 X 80 = 3,200
© 50 % 70 = 3,500
D 50 X 80 = 4,000
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The gas tank in Ava's car holds

17 gallons of gasoline. She can drive
about 32 miles for each gallon.
Which is the best estimate of the
number of miles Ava can drive on a
fulltank of gas?

A about 300 miles
8 about 360 miles
© about 400 miles

D about 600 miles.
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Ella practiced 12 hours for a violin
recital. There are 60 minutes in

1 hour. What is the total number of
minutes Ella practiced for the recital?
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A package holds 30 batteries. How
many batteries are in 14 packages?
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The coach bought 18 team caps to
give to her players. Each cap cost
$12. Which is the best estimate

of the total cost of the caps?

A $1.800
B $300
©  $200
$180
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™) Which shows the best esimate 1o use:
0find 43 % 787

24070 = 2800
4080 = 3200
© 5070 = 3500
050 80 = 4000

The gas tank in Ave's car holds
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